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Fasit

Oppg 1l a) y=e"(Cicosz+ Cysinz) + 15(cosz + 2sinx)
b) y/l/ _ 4y1/ + 5y/ _ 2y — O

Oppg 2 a) BasisRow(A):[1 0 10 2 0]7, [0 1 =5 —1 10]7, [0 0 0 0 1]7 (f.eks.)

Basis Col(A): 1 —2 0 0 37,2 =5 —3 —2 67, [2 6 18 8 6]T (feks)
b) Basis Null(4): [-10 5 1 0 0], [-2 1 0 1 0]7 (f.eks)
c) Null(A)! = Row(A)
d) Lgsning kun for o = 3

1 0 1
Oppg3 a) A=1,v=a| -1 | +Db 11, (a,0) #(0,0); A=4, v=c| 1|, c#0
0 -1 1
1 01 1 00
b) S=| -1 1 0| (feks); D=]0 10
0 -1 1 0 0 4
T VB 1
c) S=—| V3 1 V2| (feks)
0 0 —2 V2
T 1 0 1
d) y | =cet | =1 | + coet 1| +cze | 1
z 0 —1 1
—1 2 1
e) P l= 1 -1 0
1 -1 -1
f) Som 3d)
n 0 1 2 3
Oppg 4 lgnﬂ } _ [8; 8;} [gn} . G, 18000 | 6000 | 5000 | 4500
et ’ ' " U, | 2000 | 4000 | 5000 | 5500




